Section P.6
6. V25449 =549

=5+3i

14, (3-5i))—(8-2i)=3-5i—8+2i
=(3-8)+(-5i+2i)
=-5-3;

30 (=5-i)(2+3i) = —5(2+3i)—i(2 +3i)
=—10-15i—2i —3i*
=—-10-15i—2i—3(-1)
=—10-15i—2i+3
=(-10+3)+(—15/—-2i)
=717

36, (5-37-48)(2-4-27) = (5-3i/48)(2— 4ix/27) =[5 - 3i(43)][2— 4i(3/3)] = (5-12i/3)(2 - 12i+/3)
=5(2-12ix/3) = 12i3(2 - 12i7/3) = 10— 60i/3 — 24i+/3 + 144i% (\[3)?
=10 - 60i/3 — 24ix/3 +144(~1)(3) = 10— 60i/3 — 24i/3 — 432
= (10— 432) + (—60i/3 — 24ix/3) = —422 —84i/3

40. 4—8i_4(1—2i)_\4\(1—21')_1—2i_1—2i_£‘_i—2i2_i—2(—1)_i+2__2_
4i 4i i i i 2 -1 -1
B 50 5-i 4-5i (5-i)(4-50)  5(4-50)-i(4=5i) _ 20-25i—4i+5i
4450 4450 4-5i (4+5)(4-51)) A4-5)+5i(4-50) 16-=20i+20i—25i%
| 20-25i—4i+5(-1)  20-25i-4i—5 (20-5)+(-25i—4i) 15-29i 15 29,

= —i
16-25(-1) 16+25 16+25 41 41 41

e - =02-i2-i)>?
=22 +22)(=)+ ()]
=(2-i)[4—4i+i’]
=(2-i)[4-4i—1]
=(2-1)(3-4i)
=2(3—4i)—i(3 - 4i)
= 6—8i—3i +4i°
=6-8i—3i+4(-1)
=6-8i-3i—4
=2-11i

62. Use the Powers of i Theorem.
The remainder of 52 <4 is 0.
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66. Usea=2,b=1,c=3.

b +\b? —dac _ ~(1) +()* ~4Q2)3)

2a 2(2)
~1+1-24

4
—1+4-23  —1+id/23
4 4
1 23

4 4

80 2Pt 0 225G+ 2 4 i) = 25( + (= 1)+ (=i) + 1) = 25(0) = 0



